
Kevin likes array
Kevin likes array. This time he has a array A[1] , A[2].....A[N]. He calls a array beautiful, if the number of inversions is
equal to the number of its local inversions. The number of inversion is eqaul to the number of pairs (i;j) such that 1 ≤ i
≤ j ≤ N and A[i] > A[j] and number of its local inversions is the number of integers i such that  1 ≤ i < N and A[i] > 
A[i+1]. So help him to find wheather the array is beautiful or not. Print YES for a corresponding test case if it is 
beautiful and NO otherwise.

 

Constraints:

 1 ≤ T ≤ 10

1 ≤ N ≤ 100

1 ≤ A[i] ≤ 100

 

Example:

Input:
4
1
1
2
2 1
3
3 2 1
4
1 3 2 4

Output:
YES
YES
NO
YES

Explanation:
Case 1. Here N = 1, so we have no pairs (i; j) with 1 ≤ i < j ≤ N. So the number of inversions is equal to zero. The
number of local inversion is also equal to zero. Hence this array is beautiful.

Case 2. Here N = 2, and we have one pair (i; j) with 1 ≤ i < j ≤ N, the pair (1; 2). Since A[1] = 2 and A[2] = 1 then A[1]
> A[2] and the number of inversions is equal to 1. The number of local inversion is also equal to 1 since we have one
value of i for which 1 ≤ i < N (the value i = 1) and A[i] > A[i+1] for this value of i since A[1] > A[2]. Hence this
permutation is also good.

Case 3. Here N = 3, and we have three pairs (i; j) with 1 ≤ i < j ≤ N. We have A[1] = 3, A[2] = 2, A[3] = 1. Hence A[1]
> A[2], A[1] > A[3] and A[2] > A[3]. So the number of inversions is equal to 3. To count the number of local inversion
we should examine inequalities A[1] > A[2] and A[2] > A[3]. They both are satisfied in our case, so we have 2 local
inversions. Since 2 ≠ 3 this array is not beautiful.

 Case 4. Here we have only one inversion and it comes from the pair (2; 3) since A[2] = 3 > 2 = A[3]. This pair
gives also the only local inversion in this permutation. Hence the number of inversions equals to the number of local
inversions and equals to one. So this array is beautiful
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